@ a<0

® a<8

Al
=

= xofl isto] 4+

® a<?2

S}

o,



DE AL xof thete] x2 + ax + a7} -3 EoF A 7] Q)5

o) gre] Wele?

D -4<a<3 @ -2<a<4 B® -2<a<6

@ 2<a<4 G 2<a<6



3. T2y =1 (x=-3)7+(+4)7 = 2] FEHM B 477}
HEE sHe A o AT

@1 @ 2 ® 3 @ 4 ® 5



9

>

@ 174

@ 274

® 37

@ 47

S
e
=

|
—_
e
4
<
|
)
e
I
-
=
|
o
e
4
|
N
e
I
w
S
1o
o
oft
1o
i)
r)~

ONMI



A A, B, Cofl tist] th= A - (B-C) ot 22 27

@ (A-B)-(A-0) @ (A-B)n(A-C)
® (A-B)U(A-C) @ (ANB)U(A-C)

® (AUB)-(AUC)



AAHG U o F T2 A, B o tisto] B &2 AS 25
e A2
H7]

@ (A=A O AUA°=U

© ANA =0 ® (AUB)CB

@ U=0
D 6,006, 6,0 © 06,0,6,0
® 9,0, 6 ONONG)

® @



7. AT X = (x| -1 <x <300 kel x ol A X 2] ARG f(x) =
ax+ b o] Aolelwt A ofo] AT W), T A% a9 hO] & a+ O]
2he Fatolet,

5 L
=%



® 0

M~ e

@ 5



[x—1]4x+|x+1]8 2z

gy




= 2be= 1]+ x o AYUZE M, A& m
o) & M +m 9| ghe?






B0 AT 3RS 9
Bt Al o1

® A=B

@ ANB=9

@ BcA

® AUB=0p

® AcB



13, xofl tiet k4] f(x) & x* + 12 T Hipo] Holx|al, x-32=%
U o UAl= 5ot ol A f(n)E (P 4+ 1)(x-3) 2=
s o] YA S FshH?

) %(xQ—I-l) ©) %(xQ—i-l) ® %(x2+1)
@ 2x2-3x+1 ® g)@—x—i—1

3 2



14. xof #F dFA f(x)E x? + 12 U+ UHA|7F x+10]30, x -1
2 Uper e 27} o]tk o] Tk (08 (2 + 1)(x—1) 2 Lz
o, L 2] o] AL

@® 4 @ 3 ® 2 @1 ® 0



u y=[(z)



16. ZEHAy=xF Ady=m(x+3)°] A2 2 F A P,Q oA
(BT

E =
Tl S A8 AR OP ¢ 0Q 7F #2fo] 2w, m o] 27

W
B~
at| —



17. % A< o] 1
5 702 olabg A x2+ax+;:0374-x2+bx+%:()o] 2E

7V W, ab(a + b) O] #2? (HF, a # b)

O -1
@0
®1
@ 2
® a,b 2] grol whet Dt



Mo wx

18. F o]APYAA x2 4+ ax + 2b = 0, x2 + bx + 2a = 0°] 5L 7}
Ao g th-2 AW F 22 Aozg Ax]oj A7 (¢, T

(I—I') a+b= —201% _Q_;i]‘ Sl 7H9/] 510—%%’% ;J._E_E]_

€) a=bolAtha+b = —209 Zolx 3 7|9 BE2L

Zrech.
B a+b=-20lTa%-10]% 92 ¢ Ao TE2L
Zrect.
© O), @ o), U ® @

@ (), & ® @



